War will
begin g,/
‘when the
whistle

blows...’g

By Andrew Veitch !
{iN THE event of a nuclear
war, the start of hostilities
will be signalled by the bang-
ing of a gong, Or alternati-
vely, presumably in areas
where gongs are in short
supply, by the blowing of a
whistle.

Three bangs or blasts in
quick succession will si%nify
imminent danger of fall-out.
The bangs, or blasts, will
come after the air attack
warning — a siren sounding
a rising and falling note, and
a broadcast on the BBC.

No warning time can be
gauranteed, hut it is
expected that the siren,
which comes before the gong,

will sound .mot less than
three minutes before an
attack.

The arrangements are Set
down in the thithertg-confi-
dential Trent regional health
authority document, Civil De-
fence in the Health Service.

‘In the BBC broadcast, the
Government will instruct the
public_on a. “stay put in
your home safety policy”

But -the plan continues:
“It is to be expected that
panic and fear will cause
some random self-induced
movement away from likely
target areas. . . this random
movement will be
strenuously dfscouraged by
pre-attack broadcasts = warn-
ing that the Government has
deliberately not made plans
for any evacuation policy.”

S —

Indeed, the plan makes it
clear that pre-attack broad-
casts will not come until the
last possible moment :
“Transition to war measures
will be taken covertly to
avoid aggravating inter-
national tension and disquiet-
ing the public.”

The Trent area centred
around Nottingham stretches
from Skegness in the east to
Buxton in the west, and from
Doncaster in the north to
Market Harborough in the
south. Military targets io the
region include east coast
USAF bases. Civilian targets
include the steel works of
Sheffield and Rotherham and

the south Yorkshire coal-
fields.
The plan, the fourth

regional jplan’ to be leaked,
says tha%.\'although it is im-
possible to predict the scale
of a nuclear attack, “it is
confidently predicted
there will he survivors.”

that |
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“It would be prudent to
assume that a nuclear attack
would produce the maximum

amount of damage, destruc-
tion and disruption . . . thus
all emergency planning

should be based on an 80 per
cent survival rate among the

population and an 80 per |
loss of essential ser- !

cent
vices. . ..”

On the other hand the
BMA’s Board of Science
report on the medical effects
of a nuclear war accepted
that a full scale attack would
kill 38.6 million people, and

leave 4.3 million seriously in- |

jured.. A single megaton
burst over Coventry. would
kill 250,000 people and leave

up to 36,000 suffering from ~

hlast and burns. The figures
do not take account of radia-
tion. ’

The plan admits that law
and order may be difficult to
maintain: “The responsi-
bility of the police force in
these unprecedented circum-
stances will be to keep the
law in the best possible

democratic way consistent
with post-attack conditions
and with certain modifi-

cations to the present British
penal system.”

Officials are also advised to
select storage sites, make
them secure, draw up lists of
supplies, arrange to rotate
stocks, and identify college,
school, university hospital
and industrial laboratories
which could be * productive.”

The plan accepts that the
resources (Trent has 9,434
acute beds) * could be inade-
quate” to deal with all
casualties, There are detailed
schemes for setting wup
casualty centres, manned by
volunteers and GPs, but
health service staff will not
be allowed to enter radiation
areas.

The BMA report pointed
out that since the health ser-
vice would be obliterated by
a nuclear attack, the plans
were too concerned with
bureaucratic procedures, and
that it would he better to
train doctors how to survive.

The Royal College of Nurs-
ing’s director of professional
activities, Mr David Rye, de-
scribed the war plans at the
weekend as unsatisfactory.
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